CAMPING ACTIVITIES IN FRIM, KEPONG

The following are details of the camping activities, facilities and services offered at the FRIM campus in Kepong and the respective fees:

1. LOCATION RENT

Category Of Users	Per Night
Education	RM 300.00
Social	RM 500.00
Corporate	RM 1,000.00

2. ACCOMMODATION

Item	Per Night
A-Hut	RM 50.00

Item	Per Unit
Tent (4-Men Tent)	RM 30.00

3. CAMPING EQUIPMENT

Item	Unit Price
Portable Microphone	RM 100.00/day
Mestin	RM 2.00
Compass	RM 5.00
Binocular	RM 10.00
Sleeping Bag	RM 5.00

4. ACTIVITIES

Activity	Price (RM)	
Nature Guide	RM 120.00/ Group	
Fee	* Maximum 25 pax per group	
Night Walk	RM 250.00/Group	
Might Walk	* Maximum 25 pax per group	
	Adult (Non-Malaysian)	: RM 10.00
Canopy	Adult (Malaysian)	: RM 5.00
Walkway	Student(13 years onward-must show ID card)	: RM 3.00
	Children(7-12 years old)	: RM 1.00
	RM 30.00/Group	
Treasure	* 3-5 pax per group	
Hunt	Minimum 10 groups	
	***Not including prizes	
Obstacle	RM 120.00/Group	
Run	* Maximum 25 pax per group	

5. FOOD & BEVERAGE

Item	Price (RM)	Contact Person
Breakfast	RM 4.00 - RM 5.00	
Lunch	RM 6.00 - RM 10.00	
Tea break	RM 4.00 - RM 5.00	Yazid Nyan
Dinner	RM 6.00 - RM 10.00	(019-2204535)
Supper	RM 4.00 - RM 5.00	
BBQ	RM 15.00 - RM 30.00	

^{*}All rates will be subjected to 6% GST.



ONE STOP CENTRE, INOVATION & COMMERCIALISATION DIVISION FOREST RESEARCH INSTITUTE MALAYSIA (FRIM), 52109 KEPONG, SELANGOR DARUL EHSAN

The following are packages offered by FRIM:

i) 2 DAYS 1 NIGHT:

Day 1

Time	Activity
9.00am	Check-in/Register at Perah Camp site
	Briefing to be conduct by Camp Warden
10.00am	Nature Trekking - Canopy Walkway (3 hours)
1.30pm	Lunch/Self-Preparation/Free time
7.00pm	Dinner
9.00pm	Night Walk (1½-2 hours)
11.00pm	Free & Easy (You may use the gazebo for your
12.00pm	own activities)

Day 2

Time	Activity
7.00am	Breakfast
	Obstacle Run/Treasure Hunt
8.30am	(1½-2 hours)
12.30pm	Lunch / Free time
2.00pm	Check-out
2.30pm	FRIM Souvenir Shop

Example of Calculation:

Number of pax : 8 Adults, 40 students & 10 children

Activities : Nature Trekking, Canopy Walkway, Obstacle Run, Treasure

Hunt and Night Walk

Accomodation : 3 A-Huts & 10 tents

No.	Item	Fee	Total
1	Entrance fee	RM 5.00/Bus	FOC
		RM 1.00/Adult	FOC
2	Location rent (Education)	RM 300.00/Night x 1 night	RM 300.00
3	A-Hut	RM 50.00/Unit x 3 unit x 1 night	RM 150.00
4	Tent	RM 30.00/unit x 10 units	RM 300.00
5	Nature Guide	RM 120.00/Guide x 3 guides	RM 360.00
6	Canopy Walkway	RM 5.00/Adult x 8 adults	RM 40.00
		RM 3.00/Student x 40 students	RM 120.00
		RM 1.00/Children x 10 Children	RM 10.00
7	Obstacle Run	RM 120.00/Group x 3 groups	RM 360.00
8	Treasure Hunt	RM 30.00/ Group x 10 groups	RM 300.00
9	Night Walk	RM 250.00/ Group x 3 groups	RM 750.00
		CUMULATIVE TOTAL:	RM 2,690.00



ONE STOP CENTRE, INOVATION & COMMERCIALISATION DIVISION FOREST RESEARCH INSTITUTE MALAYSIA (FRIM), 52109 KEPONG, SELANGOR DARUL EHSAN

ii) 3 DAYS 2 NIGHTS

Day 1

Time	Activity
4.00pm	Check-in/Register at Perah Camp site
	Self-preparation/Free time
7.00pm	Dinner
9.00pm	Night Walk (1½-2 hours)
11.00pm	Free & Easy (You may use the gazebo for your
12.00pm	own activities)

Day 2

Time	Activity
7.00am	Breakfast
8.30am	Nature Trekking - Canopy Walkway (3 hours)
12.30pm	Lunch/Free time
2.00pm	Obstacle Run (1½-2 hours)
7.00pm	Dinner
8.30pm	Free & Easy (You may use the gazebo for
12.00pm	your own activities)

Day 3

Time	Activity
7.00am	Breakfast
8.30am	Treasure Hunt (1 ½-2 hours)
12.30pm	Lunch / Free time
2.00pm	Check-out
2.30pm	FRIM Souvenir Shop

Example of Calculation based on:

Number of pax : 8 Adults, 40 students & 10 children

Activities : Nature Trekking, Canopy Walkway, Obstacle Run, Treasure

hunt and Night Walk

Accomodation : 3 A-Huts & 10 tents

No.	Items	Fee	Total
1	Entrance fee	RM 5.00/Bus	FOC
		RM 1.00/Adult	FOC
2	Location fee (Education)	RM 300.00/Night x 2 nights	RM 600.00
3	A-Hut	RM 50.00/Unit x 3 unit x 2 nights	RM 300.00
4	Tent	RM 30.00/Unit x 10 units	RM 300.00
5	Nature guide	RM 120.00/Guide x 3 guides	RM 360.00
6	Canopy walkway	RM 5.00/Adult x 8 adults	RM 40.00
		RM 3.00/Student x 40 students	RM 120.00
		RM 1.00/Children x 10 children	RM 10.00
7	Obstacle Run	RM 120.00/Group x 3 groups	RM 360.00
8	Treasure Hunt	RM 30.00/ Group x 10 groups	RM 300.00
9	Night Walk	RM 250.00/ Group x 3 groups	RM 750.00
		CUMULATIVE TOTAL:	RM 3,140.00



ONE STOP CENTRE, INOVATION & COMMERCIALISATION DIVISION FOREST RESEARCH INSTITUTE MALAYSIA (FRIM), 52109 KEPONG, SELANGOR DARUL EHSAN

For reservation, contact:

Tan Lay Lean
Head of One Stop Centre
Forest Research Institute Malaysia (FRIM)
52109 Kepong, Selangor Darul Ehsan
(Attn: Anis Nirmala / Yazid Nyan)

Tel : 03-6279 7592 / 7649 / 7677

Fax : 03-6280 4619

Email : frim enquiry@frim.gov.my

Website : www.frim.gov.my

Note: Kindly provide the following details in your application letter or email:

- 1) Applicant's full name
- 2) Company/Agency/Institute
- 3) Address
- 4) Date of visit and duration
- 5) Time of arrival /check-in
- 6) Activities you are interested in
- 7) Number of participants
 - i) Children (Primary Students)
 - ii) Students (Secondary students and above)
 - iii) Adults
- 8) Contact/Mobile no.
- 9) Accommodation required:
 - i) Number of A-Huts
 - ii) Number of tents
- 10) Camping equipment

Note:

- 1. Perah Campsite can only accommodate up to 80 pax, at any one time.
- 2. Facilities available at the campsite include toilet, gazebo, place for campfire activities & kitchen.
- 3. Reservation by fax or email only.
- 4. Reservation of activities must be made at least seven (7) days before the date of visit.
- 5. Full payment must be settled first at the One Stop Centre (Block D6) before proceeding with the planned activities.
 - i. Payment may be made either by cash or cheque (addressed to "Ketua Pengarah FRIM").
 - ii. CIMB Account Number: 1251 0002 3230 52.
- 6. Visitors must pay the full sum for the booked activities if they cancel without at least one day's prior notice.

FRIM CAMPSITE RULES AND REGULATIONS:

- 1. Tenants are advised to be respectful and considerate towards other users at all times.
- 2. Only halal food is permitted at the campsite.
- 3. The leader of the camping group shall be responsible for the conducts of all his/her group members.
- 4. School groups must obtain prior consent from the school authority and be accompanied by at least two teachers throughout the camping programme.
- 5. Every tenant is solely responsible for his/her own safety and the safety of their belongings.
- 6. Tenants are advised to conduct safety patrols for their group as a precautionary measure to prevent any untoward incident.
- 7. It is compulsory to conduct a cleaning session at the end of the programme to ensure that the campsite area and facilities are clean, with all garbage properly disposed of, and in good condition.
- 8. Should any of the rules and regulations be breached, tenants will be instructed to leave the campsite without any refunds.
- 9. Booking of the campsite is confirmed once the full payment has been made. FRIM will not refund/reimburse payment should the duration of the programme at the campsite be shortened by tenants.
- 10. Tenants need to provide a copy of the name list of all participants, including their respective IC number, address, phone number, as well as contact number of their next-of-kin in case of emergency.

Please contact Camp Coordinator Yazid Nyan at 019-2204535 | 03-79634917 should there be any problem at the campsite.

PLEASE REFRAIN FROM:

- 1. Damaging or collecting any plant, and/or hunting, poaching or catching any animal in the FRIM campus.
- 2. Lighting up fire (using matches/candles/mosquito coils) in the tents.
- 3. Any act of vandalism at the campsite or any other area within FRIM.
- 4. Conducting activities that are illegal and/or harmful such as gambling, consuming alcohols and drugs, behaving indecently, fighting, using weapons, and displaying other abusive behaviours.
- 5. Conducting activities outside the camping area without permission.
- 6. Cooking inside or near the tents.
- 7. Wasting electricity and water.
- 8. Driving into the campsite or parking vehicles indiscriminately.